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TH T AR A v i emeR g,
A

(A) A=A

(B) A'=-A

© A=l

(D) SWH & W B &l

Uh a1 g A FHAd AR fu-aafia
CEIAGEE

(A) A o ameg 2|

(B) A U ek AT ¢ |

(C) A TIRT IME B

(D) STda # & @IS AL

a b c
at2x bt2y ct2z{=?
X y z
(A) a+b+c
(B) x+y+z
© 1
(D) O

I A TH 3x 3 HH G I ME &, 79
[KA| R &

A) «|al

B kA

© «’|a|

(D) 3k |A|

AG-1012

(3)

A square matrix A is skew symmetric, if :

(A) A'=A

(B) A=-A

© A=l

(D) None of the above

A square matrix A is both symmetric and
skew-symmetric, then :

(A) Ais diagonal matrix.
(B) A s scalar matrix.
(C) A'is zero matrix.

(D) None of the above

a b c
at2x bt2y ct2z[=2
X y z
(A) at+tb+c
(B) x+y+z
© 1
(D) O

If A is a square matrix of order 3 x 3,
then |k A | isequal to:

(A) kla|

(B) k?|Al

C) k*|a|

(D) 3k |A|
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Zﬁé A |—x y 1 _ |—2x 3y-| [ X y1 |—2x 3y—|

> ={Zx SyJ’ ° {x ZyJ’aa > IfA:LZx 3yJ’ B:Lx ZyJ,then
A+2B WK © A +2Bisequal to :
|_5x 7y-| |—5x 7y1
A L4x 7yJ A L4x 7yJ
|—5x 4x—| |—5x 4x1
(B) L?y YyJ (B) L?y 7yJ
|—3x 4y—| |—3x 4y—|
(C) L3X SyJ (C) 3x b5y
(D) SUYd H A I el (D) None of the above
6. ?ﬂ%{A={X Z},EI‘GIZA: 6. A:{X ﬂ,thenZA::
a a
|—2x 2y—| |—2x 2y1
AR P @ . ]
[x oyl [x oyl
® o0 2 ® Lo o)
r2x 2y1 r2x 2y1
(C) LZa 2b (C) 2a 2b
(D) Suga H A Bl 7Tl (D) None of the above

7. T A=dig (2, -5 9),B=dig(l 1,4), 7. IfA=dig(2 -5 9), B=dig (L 1, -4),

dd (A—2B) TR 2 then (A — 2B) is equal to :

(A) dig (0,7, 17) (A) dig (0,7, 17)
(B) dig (0,7, 17) (B) dig (0,7, 17)
(C) dig(0,7,-17) (C) dig (0, 7,-17)
(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (4) Set-D



TR R e
1 value of y is :
A) 1 (A) 1
B) 2 (B) 2
€ 3 C) 3
(D) 4 (D) 4

~y sl _Te 51 f2x=y 51 _Te 51
9. aﬁ{L o T )y T XA et T =] then the

EICE value of X is :

A 1 (A) 1

B) 2 (B) 2

€ 3 (C) 3

(D) 4 (D) 4
[3] 3] ]

10. 3T «x 2L J=2,?I‘GIXEHIIF[%\’: 10. If «x 2L J=2,thenthevalueofXIs:

4 4

(A) 2 (A) 2

B) -2 (B) -2

<€ 3 (C) 3

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (5) Set-D



(D) SWE ¥ W B &l

r ]
12. IR a=s 0 R

12_1J

:
(A) L

:
(B) L_

[ 2
© |
(D) SWad # | BIS T2

AG-1012 (6)

12.

|
& ]
B) -7 2

[ 71
© -]

(D) None of the above

it T2 3 -5
A Ll 2 —1J
[0 5 11

B =L_2 , 3J,thenA+B:

A [-2 g -4
B,

[ 2 8 -4l
®) L_l 9 2J
c [ 2 -8 -4
© 1 5 -

(D) None of the above

and
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|—1 1T Fl 11

13. zlﬁ{A:h NS 13 Ifa = [thena -
|—1 1—| Fl 11
& &
|—2 2—| fz 21
®) Lz 2J (B) {2 2J
|—l O—| Fl oT
(©) {o 1J (©) {o 1J
(D) SWE ¥ ¥ IS el (D) None of the above
14. | N BT AM € 14, The value of || i IS :
x 5xt1 x 5x*t1
(A) 5x**s8 (A) s5x*+8
(B) 5x* -7 (B) 5x* 7
(C) 5x+8 (C) 5x+38
(D) SUId H H I el (D) None of the above
15, x & fog a9 & foly A RTeR & ? 15. For what value of x A is singular ?
[+ |
M1+ 71 ERE
S “hes
™ = Ol
® = ® =
© © -
(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (7) Set-D



16.

17.

18.

19.

x-31eT BT FHIPT §
(A) X=0

(B) Y=0

(C) X=0,Y=0

(D) SWE ¥ | FIg el

y-3eT B THIGRT B
(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) ST ¥ § B T

X-33 D AR g BT FHPRT ¢

(A) x=a
(B) y=a

(C) x=ay=a

(D) ST & 7 IS Tl

y-31T & AR g BT FHIHR &

(A) x=a
(B) y=a
(©) x=ay=a

(D) SUYa H A Bl 7l

AG-1012

(8)

16.

17.

Equation of x-axis is :

(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) None of the above

Equation of y-axis is :

(A) X=0
(B) Y=0
(C) X=0,Y=0

(D) None of the above

Equation of line parallel to x-axis is :

(A) x=a
(B) y=a
(C) x=ay=a

(D) None of the above

Equation of line parallel to y-axis is :

(A) x=a
(B) y=a
(C) x=ay=a

(D) None of the above

Set-D



20.

21.

22.

a1 {4531l (-1, 2) 3R (3,5) @ 94 &l
2

(A) 13

(B) 5

(C) o5

(D) S ¥ ¥ B T

ﬁﬁ@’:ﬁ (x1, ¥q) C*:ﬁ_\I (x5, Y5) Eﬁ\_rﬁ@ef
el A & e g & fdenas &

(A) (MZMlh+hj

(X X

© |
(D) SWad # ¥ DS T2
AT (¢, vy AR (x,,y,) BT SSH

~y, )
y y
1’22 1J

qTell g BT alel BN
(A
X, T X
(|B) Y n
X, + X,
(C) X, X
Y, Y1

(D) SWad # | BIS T2

AG-1012

20.

21.

22.

Distance between two points (-1, 2) and
(3,5)is:

(A) i3

(B) 5

(C) s

(D) None of the above

The coordinates of the midpoint of the

line segment joining points (x,, y,) and

(x,,y,) are:

(A) [Xl-;XZ’yl_;yZJ

(B) (Xl;xz’yl;yZJ

(X X

© |

=y )
1 Y2 N
o2 J
(D) None of the above

Slope of a line joining two points (x,, y,)

and (x,,y,) Is:

(A 2t
X, T Xy
|) n
Xo T X
(C) X, X
Yo, Vg

(D) None of the above

Set-D



23. (3,-2) 3R (-1, 4) q W qrell g ®T 23. The slope of the line through (3, —2) and

R (-1,4)is:
@ -2 A -2
2 2
® -2 ® -2
3 3
c 2 < 2
2 2
(D) SWE ¥ ¥ IS el (D) None of the above
24. T gl @I @A m, AR m, T @  24. The angle 0 is between two lines with
ST PIT 0 T qY tan © WK T slope m, and m, , then tan 6 is equal to :
A) M2 My A) M2 M
) 1t mm, ) 1t mm,
m, " m m, Tm
B —2 1 B 2 1
() 1= mm, () 1= mm,
m m
c) — c) —+
© & ©
(D) Suga H A Bl el (D) None of the above

25. 3 A A& A m, AR m, g, 25. Two lines with slope m, and m, are

fwaq g, afe perpendicular, if :

B m=m, A =,

® mm, =71 B) mm, =1

© m =, © m = -m,

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (10) Set-D



26. (-2, 3) % TP O dlell —4 T[T & AT 26.  The equation of line through (-2, 3) with

WWWW%: slope —4is:
(A) 4x+y+5=0 (A) 4x+y+5=0
(B) x+4y+5=0 (B) x+4y+5=0
(C) £+y+5=0 (C) £+y+5=0
4 4
(D) Suga H H Pl el (D) None of the above
27. x4 AR y-3T W HET -3 3R 2 27. The equation of line which makes
TS TTN AT AT BT T § intercepts —3 and 2 on the x and y-axes
respectively is :
A L+ L=, a) X+ Y-y
2 73 2 -3
B) L+ L=, B) L+ Y-,
3 T2 -3 72
(C) L%—l:l (C) L+l=1
3 2 -3 2
(D) SWE ¥ ¥ IS el (D) None of the above
28. TSI 3x—y+10=0h 3A & 28. Theslope of line3x—y+10=0is:
(A) 3 (A) 3
® L B) =
3 3
© -3 © -3
(D) SUYd H H IS Tl (D) None of the above
29. VAR ARAl 3x — 4y + 7 = 0 3R 29. The distance between the parallel lines
3X_4y+5:0a§gﬁaa§r§:@[§: 3x—4y+7=0and3x—-4y+5=0is:
w - n -
5 5
B) 2 ® 2
5 5
© 2 © =
2 2
(D) SUYa H § IS Tl (D) None of the above

AG-1012 (11) Set-D



30.

31.

32.

33.

AG-1012

9 T B TR T v (h, k) R 30.

CIREIR R
(A) x=m2H(y k)2 =r?
B) (x—n?-(y " Kk?=r?

C) x—m2F(y-Kk?>=r

(D) SW& H W PIg T

U x2 + y? +8x 10y ~8 =0 B B 31.

g

(A) (4.5
(B) (4.-5)
€ (45
(D) (4.-5)

(C) Xy, T oyxy T a?

(D) SWa ¥ ¥ I3 Tl

T 33.

(x T5)2*+ (y ~3)” = 36

BT BT B
(A) (5,3

(B) (5.3
€ 63
(D) (5-3)

(12)

qd x2+y?=a? B g (x.y) W 32

The equation of the circle with centre at
(h, k) and radius r is :

(A (x~

(B) (x—m2-(y-Kk?*=

)2+ (y ~ k) = r?

|
-

C) (x—m>H(y-Kk?=r
(D) None of the above

The centre of the circle

x2+ y2+tgxt10y ~8 =0 IS:

(A) (45
(B) (-4,-5)
€ (4.5
(D) (4.-5)

The equation of tangent line at (x,, y,) to
the circle x2 + y2 = a2 is:

(A) xx, T yy, = a’®

(B) xx, Toyy, T a?

(C) Xy, Toyxy T a?

(D) None of the above

The centre of the circle

(x T5)2+ (y ~3)” = 36

(A) (5.3
(B) (5.3
€ 6.3
(D) (5.-3)

Set-D



34.

35.

36.

37.

T ST BN

lim[x® ~ x2 T1]
x1

A 1

B) -1

€ o

(D) STda # § Big AL

n—an

RIS

lim
xZa X~ a

(A) na"!

(B) an?'!?

(©) na

(D) SWE & W B &

lim sin x Eb‘[ﬂﬁf}i

X0 X

(A) 1
B -1
() uRuiftg =& 2

(D) SWa ¥ ¥ I3 e
d"—(exz) B AM 8 -
(B) e**.x2

(C) x.e*

(D) 2x.eX’

AG-1012

(13)

34.

35.

36.

37.

Find the limit :

lim[x® ~ x2 T1]
x1

(A) 1
(B) -1
(C) 0

(D) None of the above

n—an

lim is equal to :

xZa X~ a

(A) na"!
(B) an?*!
(C) na

(D) None of the above

sin x

lim is equal to :
X0 X
(A) 1
(B) -1

(C) Does not exist

(D) None of the above

The value of = (¢x*) is :
dx

2

(A) e
(B) e**.x2
(C) x.e

(D) 2x.eX’

Set-D



38. dd—(sin x * cos2x) Pl HIH g

X

(A) cosx—2sinx

(B) cosx+2sinx

(C) cosx—2sin 2x

(D) SWE ¥ ¥ I Tl
39. d—(Iog sin x) Eb—[qﬁ% :

dx

A)  SOSX

( ) sin x

B) _ COSX

( ) sin x

C sin x

(©) cos X

(D) SWa ¥ ¥ I Tl
40. L (e* cosx) FTHM T :

dx

(A) e*(cos x ~ sin x)

(B) e*(cosx * sin x)

(C) e*(sin x ~ cos x)

(D) SWa ¥ ¥ I3 T
41, L AR

dx

(A) a”

(B) xa*!

(C) a*log,a

(D) SWE ¥ ¥ FI5 Tal
AG-1012

(14)

38.

39.

40.

41.

d .
The value of — (sin x * cos2x) IS

dx
(A) cosx—2sinx
(B) cosx+2sinx
(C) cosx—2sin 2x

(D) None of the above

d .
The value of — (log sin x) IS
dx

A €cOos X
( ) sin X

B _cosx
( ) sin x
C sin X
( ) CcoS X

(D) None of the above

d .
The value of — (e* cos x) IS:
dx

(A) e*(cosx ~ sin x)
(B) e*(cosx * sin x)
(C) e*(sinx = cosx)
(D) None of the above

The value of d—(ax) is :
dx

A a*
(B) xa*!
(C) a*log, a

(D) None of the above

Set-D



42. d—(sin2 x) Dl |1 g 42. The value of d—(sin2 x) IS
dx dx

(A) sinxcos x (A) sinxcos x

(B) cos® «x (B) cos? x

(C) 2sinx. cosx (C) 2sinx.cosx

(D) ijzﬁ T Plg el (D) None of the above
43. dd—(sin_l x) I " g 43. The value of dd—(sin_l x) IS:

(A) cos x (A) cos x

(B) — (B) ——

17 x2 17 x?

©) — ©) —

(D) amiaﬁ T Plg el (D) None of the above
44, dd— eV P AF T 44.  The value of dd— eV s

(A) eV (A) eV

@ ®

N ¥

C " C o

(©) T ©) A

(D) Suga H A Bl 7Tl (D) None of the above
45. I y =sin (3x +5), d9 :—y = 45. Ify =sin (3x + 5), then :—y =

(A) cos (3x +5) (A) cos (3x +5)

(B) 3cos (3x +5) (B) 3cos (3x +5)

(C) (3x+5)cos x (C) (3x+5)cos x

(D) SUYa H A Bl 7l (D) None of the above

AG-1012 (15) Set-D



46. IS

y = 417% 24x —18x?, dd y PI

31T 919 2

(A)
(B)
(©)
(D)

47. IC

49
41
—-36

ST U B T

y = x* - 3x*t2, d9 y & JIdH

9 8

(A)
(B)

(©)
(D)
48.

(A)
(B)
(©)
(D)

5

49,
(A)
(B)
(©)
(D)

AG-1012

J.sec2

5

e e
x dx Eb—f‘:l'l:féi

2secx+C
2secxtan x+ C

tan x+ C

Swad # ¥ Plg T
dx Pl 79 T :

Jx *c
4\/;+c

i-i—c

N
Swad # ¥ Plg T

(16)

46.

47.

48.

49.

If y =41+ 24x—18x?, then maxima of
yis:
(A)
(B)
(©)
(D)

49
41
—-36

None of the above

If y = x?-3x* 2,then minimum value
ofyis:
5
A =
2
B) —=

© -1

None of the above

(D)
The value of .[secz x dx iS:

(A) 2secx+C
(B)
(©)

(D)

2secxtan x+ C
tan x+ C

None of the above

2 )
The value of J—dx is:

I

Jx *c
4\/;+c

i+c

N

None of the above

(A)
(B)

(©)

(D)

Set-D



50. Je Sdx FIAME 50.
(A) 23+ ¢
(B) er’3 N c
2
(C) 2e**¥3+c
(D) ST # ¥ B T
51 [—2X_qx FTAAE: 51,
x< t1
A —
(x* T 1)?
B -——-c
x< T
C) tog,(x**1ntc
(D) SWE & W B &
52. J° i7dx5b—f‘:ﬂ:f%5 52.
(A) log2
(B) -log2
(C) log(x+7)+C
(D) SWa ¥ ¥ I3 el
53, lelogxdx &AM 2 53,
(A) e
(B) 2log2-1
© —
2log 2
(D) SWad # | BIS T2
AG-1012 (17)

The value of fe“_3 dx is:

(A) e 3+c
2x~3

B) —-c
2

(C) 2e**3+c
(D) None of the above

The value of | —2% 4y is:
x2 *1
1
-~ +
(A) R C
1
(B) X2+1+C

C) tog,(x**1ntc

(D) None of the above

1

The value of [’ dx is:
T2x t 7

(A) log2

(B) —log2

(C) log(x+7)+C
(D) None of the above

2 .
The value of f log x dx IS:
1

@A) L+c
(B) 2log2-1
© —

2 log 2

(D) None of the above

Set-D



54.

55.

56.

S57.

.[oﬂcos5 x dx fb—f‘:ﬂ:féi

(A)

S | o

3

® >
4 2

N oA

(C) 0
(D) SWF ¥ 4§ BIE T

jos(x2+1)dx BT AE B

(A) 12
(B) 9
(C) 27

(D) SWE & W B &

T x2 + y? = a2 BT ATHA &
(A) 2ma
(B) 47a’
(€) 7

(D) SWad # ¥ DS T2

2

A v L -y o dre £

a? b
(A) mab
(B) 2mab
(C) m™a?b?

(D) SUYa H A Bl 7l

AG-1012

(18)

54.

55.

56.

57.

27 .
The value of f cos® x dx iS:
0

(A)

S~ o

N-| 3

® >
4

N | w

€ 0o
(D) None of the above

The value of f;(x2 +1)dx IS:

(A) 12
(B) 9
(C) 27

(D) None of the above

The area of the circle x? + y2 = a2 is:
(A) 2ma

(B) 4ma?

(C) ma?

(D) None of the above

2 2

. X .
The area of the ellipse — * y—2 =1is:
a b

(A) mab
(B) 2mab
(C) m™a?p?

(D) None of the above

Set-D



58.

59.

60.

WATT  y2 = 4ax IR TAG ANTH &
< BT 8% d ©

A Iy ax
(B) 2I:ydx
© 2[" yax
(D) SWE ¥ ¥ TS el

Uh I JMAE A FAMT B, I

A) A=A
(B) A'=-A
© A=l
(D) SWa ¥ ¥ IS T

aﬁA:LIZSJ,wA'Wéi
2
=
(A) |2 1
s o
[-1 -2 -3l
®) L—z 1 oJ
c (1 3 21
©) Lz 0 1J

(D) SWad # | BIS T2

AG-1012 (19)

The area bounded by the parabola

y2 = 4ax and its latus rectum is:

(A) ,[Oa y dx
B 2["yx

© 2[7 yax

(D) None of the above

A square matrix A is symmetric, if :

(A) A=A
(B) A'=-A
C) A=l

(D) None of the above

1 3l
|fA:L J,thenA'isequaIto:
2 1 0
i
(A) |2 1
3 o
[-1 -2 -3l
B
®) L—z 1 OJ
© [1 3 2]
Lz 0 1J

(D) None of the above

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IRl fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
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